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HE: DMOIE DIRAMHIA KT
SHel: DABE SIRMHIA HB CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
R 2,041,874 1,477,789 564,085
2 167,160 163,708 3,452
s 5,000 0 5,000
= 4,000 4,000 0
Al 1,865,714 1,310,081 555,633
DAVE DRNHIA KB 1,879,782 1,317,019 562,763
= 167,160 163,708 3,452
s 5,000 0 5,000
< 4,000 4,000 0
Al 1,703,622 1,149,311 554,311
DAE QIANHIA HB 598,863 535,911 62,952
2 18,998 19,046 N
Al 579,865 516,865 63,000
DAHOLE #HHY 2 542,685 479,685 63,000
405 TH&HH St 83,000 20,000 63,000
01 AU 2B St 83,000 20,000 63,000
0 Sooe3)] 4552 (WPN) &3
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O 2oloae3) DAl 2 &
ZE 80,000,000% 80,000 20,000 60,000
CEEE 18,998 19,046 N
2 18,998 19,046 N
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2 1,351 1,399 A48
01 At 22l bl 1,351 1,399 A48
0 ger+gH 1,351 1,399 A48
O 0 gFEEE L 422 S 2
23 1,351,0009 1,351 1,399 A48
2 1,351 1,399 A48
A=y B4 KD 849,752 354,941 494,811
2 60,500 57,000 3,500
Al 789,252 297,941 491,311
EREIN 542,353 51,042 491,311
301 YB3 491,311 0 491,311
1 1EH2 4 491,311 0 491,311
O NEWEA EHS (42X T)
491,311,00080 = 14 491,311 0 491,311
EEEICES) 3,500 0 3,500
2 3,500 0 3,500
101 21248l 3,500 0 3,500
2 3,500 0 3,500
YBIENEESETPS 3,500 0 3,500
O N=Bel 942 BX 3,500,008 * 14! 3,500 0 3,500
2 3,500 0 3,500
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Sl MEA HeIMHI A 235 (232
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
MZ=A O AHA 25 148,357 143,357 5,000
£ 5,000 0 5,000
[ 4,000 4,000 0
Al 139,357 139,357 0
M2 HH ALY 126,942 121,942 5,000
s 5,000 0 5,000
Al 121,942 121,942 0
401 Al Y2 20| 75,630 70,630 5,000
s 5,000 0 5,000
Al 70,630 70,630 0
01 Al&H| 75,000 70,000 5,000
0 20178 SEN2AM MY 5,000 0 5,000
O B8XE T2 = A
5,000,000 * 1Al 5,000 0 5,000
= 5,000 0 5,000
HEsgs(ESeoan) 1,322 0 1,322
RSP 1,322 0 1,322
SIS (S22 ) 1,322 0 1,322
802 Bt 2| Ef 1,322 0 1,322
01 2DEx=ea= 1,078 0 1,078
O JIESZHAEEANRX (FSLOIA)
748,570 749 0 749
O XI=2el (0l At) 1,500 2 0 2
O XIETHZAHOIXF) 326,9102 327 0 327
02 Al - ZHIEBEZ2HE2 244 0 244
O SAXIME L AZS2RIAAH(RSLOIX
) 223,900 224 0 224
O AHZ=AsA3 XA (Ol XF) 19,520 20 0 20




